aftw gt =t wen : 16

931 '824(BL)

2022 |
fasm

( Hindi and English Versions )

9y : a9 "o 15 fge [ QUITh @ 70

A - AR & 15 free enfami S wvAes v &
form frvifea &

Note:  First 15 minutes are allotted for the
candidates to read the question paper.
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Instructions

i) This question paper is divided into three
parts, A, Band C.

iij First question of each part is multiple
choice type. Four alternative answers are
given in each. Select the correct answer and
write down in your answer-book

iiij Artempt all the questions of each part
together at one place. Each part should be
attempted on a new page.

iv) All questions are compulsory.

v)] Marks of the questions are mentioned
against them. |

vi) IHlustrate your answers with neat and
labelled diagrams and chemical equations

wherever necessary.
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quEg - F T) e vie o A B 2
PART - A
1, %) 30 9 & BHE W @ o 1 S ) o
1 € i) @
i)y odl HE W i)
i) IUN & 9 :
i) I W v} ! '
iv) W 1 1. a) The image of an object placed at the
) = R o amemt A werer @ 9@ AT focus of a concave mirror, is formed
ol § i)  at the centre of curvature
iy A !
.. : 11) behind the mirror
i) SwH .
iv) fwdifes o : 1 iv) at the pole 1
‘M 5 AW oy AR W 9 Wy w3 o b) Speed of light is minimum in the
FReA T T&F ZHe &1 qoly am cereeeeeenn. TREdiUM. '
i) é | iy  diamond
i) 20w H)  water
iti) 2-5 3\ i) glass
iv) 137y : 1 1v) kerosene 1
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Resistance wire of 5 Q is cut into five
equal parts. The resistance of each part

will be
1

i) g Q
n} 200

m) 2-50Q

iv) ]- Q : 1
The unit of electric powér is

i) Voit

ii)  watt

iii} ampere

iv) . ohm 1

A A I S FI9E H= A s

€72 2
T I o B BHE g 30 Bt § | awq
F o F AR gt m o Rred ag w
T @ d 0@ Mg et 2 2
fere gfte a9 0 e & 2 suaT framo %a
BIT & 2 2
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b)
c}
3. W)
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Why is convex mirror used in vehicles ?

| 2
Focal length of a concave lens is 30 cm.
At what distance an object is to be
placed from the lens so that image of
the object is formed at a .dist.'anc.e of
20 cm from the lens ? 2
What is the defect of short-

sightedness ? How is it eliminated ? 2

T AT U § & F Widers qratas

TR WA & fofu aeg A Rl R

g ¥ feary) 4
o

Th I AW W T @ A et

7 ¢ | fRvor st | wmemRu 4
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In order to form real and magnified

image of an object by a concave mirror,
show the position of the object by a ray
diagram. 4
OR _
Virtual image of an object is formed by

-4 convex lens. Explain it by a ray

diagram. , 4
What is the unit of resistance ? The
resistance of a wire of length- L and

thickness A is. 10 . Find out the

resistance of another wire of the same

material whose length is L/3 and of

thickness 3A. _ 4
OR

Three resistors are joined in series.

Obtain the formula for the equivalent

resistance of the combination. 4
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g6 &l feen =1 e s 7

Explain the principle and working process

of an electric generator by a labelled .
diagram. __ 7

OR

On what factors does the force act'ing on a
current carrying conductor in magnetic
field, depend ? Clarify the law for the

direction of force acting on the conductor.
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PART - B
My
i) C,H0 ii) C,H,O
i) C,H,O iv) C,H,O
g €
iy B ii) Li
jii) Si iv)] C
§1 -
i) Tafer i) @R
iii) ISET iv) HEA
Propanal is _
ij C,HO ii)
ilijy C 4H80 1v)
Metal is
iy B iijj Li
i) Si iv) C

@OF
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76830

............. forms hydrogen gas with cold

dilute acid.

i) Silica i) Copper
iii)  Zinc iv) Carbon . ]

e i 73 4 o o e frf)
pﬁmﬂmﬁmﬁ ? IE W H
ERGIT ST HWEI FTEAME 2 2
amyf wed T fefar o @ e

xRl Ft 3} favtean of fafam 2
Write the method of preparation and
property of Baking soda. | 2

What do you understand by pH value ?
What is the hydrogen ion concentration

in pure water ? 2

Write modern periodic law and also
write  two characteristics of this

periodic table. 2
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7. ). g I JUIT TRSIEET T IR TR
2

@) @S T I ¥ AR |0 2

7. a) Differentiate between saturated and

unsaturated hydrocarbons. 2

b) Differentiate between mineral and ore. 2
8. FAfefEd w feupit fafaw :
%) b A shere affeat 2
§) wEHE AN H geddie dEa 2
T FEie difTl S IUPAC T TEid 3
o

TR 3 % S W U &Y g dm
Tt ot ST RS e fafe |

1+2+2+2
8. Write notes on the following :

a) Substitution reactions in organic

compounds. 2
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b)

9. &)
g
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Covalent bonding In ~ organic

compounds. 2

IUPAC system of nomenclature of
organic compounds. . 3
OR
Write chemical equations of one
method of preparation and three
chemical properties of Ethanoic acid. |
1+2+24+2
Uy -
PART - C
A 5 UGl w7 de &
i 42 i) 44
i) 46 iv) 48 1
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i UHE AT & 2
) i) Tt
iii) T " iv) RR | 1
e % SEer T P ¥

i) IOl a5y uEMt w1 dawd
ii) STt T Geeq
i) ST & HeR

iv) ST Tl o Hed 1
Number of chromoesomes in hﬁma.n
is

i 42 - ) " 44

i) 46 iv]- 48 1

Which is not a part of female genital
system in human from the following ?

1}  Ovary

i) Uterus

iiij Vas deferens

iv] Fallopian tube 1
®OF [ Turn over
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c)

d)
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b)
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Which of the following genotypes

represents pure round seeds ?
ij ot i Tt
jii) T iv) RR 1
The function of xylem in plants 1s
i) conduction of excretory wasle
products |
ii) conduction of water
i) translocation of food
ivj translocation of amino acids 1
Hew & VAT & AR T MR qo ST
TIRIVT T T 1+1°
WS TEA T AR & F w2 2
il H AR ] 3T 1 Seeid it |
2
Explain dominant and recessive traits
on the basis of Mendel's experiments.
1+ 1
What is the role of saliva in the

digestion of food ? 2
oOFr
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Describe the utility of stomata in

_plants. 2
R T CWEET AT R IR e

YR | 242
Fgar

Ut § St o ot %ﬂ%mﬂﬁr% ?

! T fafy =6t wwmg) 1+3

%W | ¥ ? G T o e R 5w o

T % F9 W HE HA 1+3
| I

wRar fram w e fiE S ad
& 2 el § W wfere feumit feafge) 2+ 2

Explain analogous and homologous

organs with examples. | 2+2
OR

Through what does the conduction of

water in plants taken place 2" Explain

its mechanism. 1+ 3
eoF [ Turn over

12,

12,

16
b} What is heart ? Explain that it works
like a pump in short. 1+3

OR

What are the permanent methods of
family planning ? Write short notes on

any two. 2+2
St I ) er deedr w1 e w7
44T
AFS U G 1 Aifwa o smme ) urE e
&I guig Ehaiﬁl'Ql 3+4
Explain the basic concepts of organic
evolution. ' _ 7
OR

Draw a labelled diagram of a human

"digestive system. Describe the process of

digestion. 3+4
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